Student Name:

Multiplying Numbers in Scientific Notation

Example: (4.1 X 1072)(9.5 X 1073)

(4.1 x 1072)(9.5 x 1073)

= (41x9.5) x (1072 x 1073)
= 38.95 x 107273

= 38.95x 107>

= 3.895x 107*

Answer: 3.895 x 10~#

(3x107H)(7 x 107%)

Answer:

(2.7 x 107%)(1.6 x 10~%)

Answer:

(8.25x 107%)(3.74 x 1072)

Answer:

(4.805 x 1073)(3.753 x 1077)

Answer:

(2.64 x 107*)(1.9534 x 107?)

Answer:
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Answers

Example: (4.1 X 1072)(9.5 x 1073)

(4.1 x1072)(9.5 x 1073)

= (4.1 x9.5) X (1072 x 1073)
= 38.95 x 107273

=38.95x 107>

= 3.895 x 10~*

Answer: 3.895 x 1074

(3x 107 1) (7 x107™%)

Answer:2.1 X 10™%

(2.7 X 1075)(1.6 x 10~%)

Answer: 4.32 x 10710

(8.25x 107%)(3.74 x 1072)

Answer:3.0855 x 1077

(4.805 x 1073)(3.753 x 1077)

Answer: 1.8033165 x 107°

(2.64 x 107%)(1.9534 x 107?)

Answer: 5.156976 x 10713
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